< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

o
[N

o
N

w

100

-2

-1

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=

h

-1

w
| ==
Ny 3

0 1 2 3
TP n (PCA to beamline)

—=#— DQM_CKF_XiMinusPU_base

—— DQM_CKF_XiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch3

e (1 P P AL | P O PO 11 1 1 PO Y P PO
r H 1

L. i " LT

- Al CEDH L T -
i - ;

0 1 2 3
TP n (PCA to beamline)

Al

ey

(O L B B LR AR R RNl RR R RRRRN LR RN AL R AR RARRN LRRL

-1

i AL i
0 1 2 3
TP n (PCA to beamline)

o

of -1
OF -+t -Fh {1t

OF 44 -} et A

S L INIERARD
2E-IIHEL -

-3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


